[ Efficiency vs vertpos |

—_
+—

20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02
0.0

0.4

0.95 : :
1072 10 1

T
*
i g
4
-
+
s
+
4

Y © Gy

T ||||!||||T||||!l|||J||||!||||||||||||||||||||||||

10 0
TP vertr (cr%)

2

—=— DQM_TT__original

Efficiend —— DQM_TT_initOnlyFWD0_PU
ICleNd __,__ DQM_TT_ initOnlyFWDO_PU

~ 0.2

R e e S
) . . . . .
L B SRS I S
> : : : : :
2 : : : : :
JoR s T S S A A |

3 A
R il AU S SIS S
[J] . . . .

15 R WL O S (1
0.06ft
0.04 :
0.0z} .-

&

....................

TTT T TTJTTT]
-
~- T
e
T,
T
. =
-
-
e

H
i

=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>
8.0.09

S

50.08
20.07
oy
20.06
R
(&)
£0.05
(]
0.04
0.03
0.02
0.01

0515 =10 =5 0 5 10 15 20

=
T
4

- - -F- A B Y R

Sim. PV z (cm)




	Contents
	Page 1


